XEWOMK 45
HE AR IS 8 457 HANSAVFLEX

] a’ e
B0 1 KSR BT £ A e%*’\
EHRR 1 OFEAER P OO
B0 2 SKANRR AR MNP N
BHERX2 24°mE i P
GRRE  EARBRERSATEY 9 e
GUERX  AE4 y O Lo s
HEBE  EERHFARRSANDAR) A — ] or
RS w ' G1

RERP BERE

7R
BRRE, FA, EXREHNAFN TEREN LA EESATREEENRRER.
&

XEWOMK 45 NW 04 HL L PN 315 6 M10x 1 M12x15 8 9 20 16 14 13 8.1x1.6
XEWOMK 45 NW 06 HL L PN 315 8 M12x15 M14x15 11 12 18 19 14 17 9.3x24
XEWOMK 45 NWOSB HL L PN 315 10 M14x15 M16x15 11 12 22 19 19 17 11.3x24
XEWOMK 45 NW10HL L PN 315 12 M16x15 M18x15 11 14 23 21 19 19 13.3x24
XEWOMK 45 NW 13 HL L PN 315 15 M18x15 M22x15 12 17 23 24 22 22 15.3x24
XEWOMK 45 NW 16 HL L PN 250 18 M22x15 M26x15 12 17 30 24 27 27 19.3x24
XEWOMK 45 NW 20 HL L PN 160 22 M26x15 M30x2 16 19 30 26 27 32 233x24
XEWOMK 45 NW20 HL27 L PN 160 22 M 27 x 2 M 30 x 2 15 19 30 26 30 32 23.6x29
XEWOMK 45 NW 25 HL L PN 160 28 M 33 x2 M 36 x 2 15 23 34 31 36 38 29.5x3.0
XEWOMK 45 NW 32 HL L PN 160 35 M42x 2 M45x 2 15 27 36 37 50 50 38.0x3.0
XEWOMK 45 NW40HL L PN 160 42 M 48 x 2 M52 x 2 17 26 36 37 50 55 44.5x3.0
XEWOMK 45 NW 03 HS S PN 315 6 M12x15 M14x15 11 9 18 16 14 17 9.3x24
XEWOMK 45 NW 04 HS S PN 315 8 M14x15 M16x15 11 12 18 19 19 17 11.3x24
XEWOMK 45 NW 06 HS S PN 315 10 M16x15 M18x15 12 13 22 21 19 19 13.3x24
XEWOMK 45 NW 08 HS S PN 315 12 M18x15 M20x15 14 17 23 24 22 22 15.3x24
XEWOMK 45 NW 10 HS S PN 250 14 M20x15 M22x15 14 16 30 24 27 27 17.3x2.4
XEWOMK 45 NW 13 HS S PN 250 16 M22x15 M24x15 14 16 30 24 27 27 19.3x24
XEWOMK 45 NW 16 HS S PN 250 20 M 27 x 2 M30x2 18 16 33 27 30 32 23.6x29
XEWOMK 45 NW 20 HS S PN 160 25 M33x2 M 36 x 2 18 19 35 31 38 36 29.5x3.0
XEWOMK 45 NW 25 HS S PN 160 30 M 42 x 2 M 42 x 2 18 24 36 37 50 50 38.0x3.0
XEWOMK 45 NW 32 HS S PN 160 38 M 48 x 2 M52 x 2 21 21 36 37 50 55 445x3.0
ZHRILL=FER =B S=E - PN=FEESN PB=JFAIfEN - dd2=EHER

FRER
EWOMK 45 i ARIRI2IELE BE45°, HHRBRI MY AR BE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
03.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



